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GENERAL INSTRUCTIONS TO MARKERS

I 1t is very important that all markers should adhere as closely as possible to the marking scheme. 1n many cases,
however, candidates would use alternative methods not specified in the marking scheme. Markers should be
patient in marking these alternative solutions. In general, a correct alternative solution merits all the marks
allocated to that part, unless a particular method is specified in the question.

2. In the marking scheme, warks are clagsified as follows :

‘M marks —  awarded for knowing a correct method of solution and attempting to apply it;

‘A’ marks — awarded for the accuracy of the answer;

Marks without "M or “A” — awearded for correctly completing a proof or arriving at an answer given in the
guestion.

3 In mmarking candidates’ work, the benefit of doubt should be given in the candidates” favour.

4. The symbeol should be nsed to denote marks deducted for poor presentation {p.p.}. Note the following
points: ’

() At most deduct I mark for p.p. In each questiorn, up to a maximum of 2 marks for each section.

{b} For similar p.p., deduct only 1 mark for the first time that it occurs, i.e. do not penalise candidates twice
in the whole paper for the same p.p.

{c) in any case, do not deduct any marks for p.p. in those steps where candidates could not score any marks.

(d} Some cases in which marks should be deducted for pp. are specified in the marking schems. However,
the lsts are by no means exhaustive, Markers should exercise their professional judgement to give pp.s
in other situations.

5. The symbol @ should be used to denole marks deducted for wrong/no units in the final answers (if applicable).

Note the following, points:

{a) At most deduct 1 mark for wrong/e units for cach section.

{h) Do not deduct any marks for wrong/noe units in case candidate’s angwer was already wrong.
6. Marks entered in the Page Total Box should be the nat total score on that page.

. . . . e

7. In the Marking Scheme, steps which can be omitted are enclosed by dotted rectangles | ¢

whereas alfernative answers are enclosed by solid rectangles ! i .
8. {a} Unless ofherwise specified in the question, mumerical answers not given in exact values should not be

accepted.
{b3 In case a certain degree of accuracy had been specified in the question, answers not accurate np to that

degree should not be accepted. For answers with an excess degree of accuracy, deduct 1 mark for the
fiest time if bappened. 1n any case, do not deduct any marks for excess degree of accuracy in those steps
where candidates could not score any marks.

g. Unless otherwise specified in the question, use of notations different from those in the marking scheme should not
be penalised.

0. Unless the form of answer is specified in the question, alternative simplified forms of answers different from those
in the marking scheme should be accepted if they were correct. :
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Solution Marks Remarks
1. J'(2x~3)?dx
S S T n+l
= M (mlw) +¢ |, where ¢ is a constant | M For Iu”du wZ
g 2 L et n+l
1 _
=—(Rx-3% ¢ 1A - Withhold 1A if ¢ was omitted in Q.1
16 or/and Q.13 (a)
2
2 @ ey
=1+sCry+5Cy 0% +5C3 37 +5C, 3" +0°
=1+ Sy +10y° +109° +5p% +)7° 1A
By dex+2x%)°
=l (20 M
=1+5(34:+2x2)+10(3¢:+2x2)2 s M For expauding up to sufficient terms
=14 (x4 257 ) +10(x2 £ ) 4 o '
=1+5x+10x% +10x% 4 ---
=14 Sx+ 2027 + - 1A {pp—1) if dots were omitted in
ali cases
Alternative solution
(+x+2x2)°
;;'f{@;;i;i};é'gé‘ M lAccept =[(1+2x?) 4 x7°
={1+x)° +50+x)* 228 ) + - IM
= (14 Sx+10% % + )+ 51 ) 2x P ) # --
=1+5x+20x% 4 - 1A
Pa—
d 1 fim 1 1 1 T . BT
LS RS el Covotd 1A Withhold this mark i , "7 was omitted
_ lim 1 x—(ﬁm)} A
A0 Ax " x(x+Ax) :
i For simplification only
_ lim -1 1A
A O 5 (x + Ax)
-1
. 1A
x?
y -
2005-CB-A MATH-3
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Solution Marks Remarks
4, sin(8 +30°)=cos &
sinf cos 30° +sin 3P cos & = cos F 1A

V3

——sin@-%%cosﬁ-—wcos@

1 .
tanf=— 1A
s
6 =180 n°+30° |, where n is an integer, ! IM+IA | 1M for the correct form of a general
sohution
Withhold {A for “ris a constant” ete.
OR |
: 1A {Same as above)}
ﬁ sinéd = i cosfd
2 2
cosf-3sinf=0
2c0s{f+60M) =1 1A Zsin(# ~30% =4
8+60° =360 n°£90° I, where 7 is an integer. M 6-30°=180 7+ (~1)" (0)
& =360 n° % 90° - 60° OR &+ 60°=180n° + 90°
6 =360 n°+30° or #=-360°~150°|OR & =180n° +30°] 1A 8 = 180 n°+30°
iAlternative solution (1) .
sin{f+30%) =cos & _
cos[90° (G +30°V = cos & : 1A
60°-8=360 126 |, where 1 is ap integer. IM+1A

| 60°~8=3601°+6 or 60°-0=360n°~@ {rejected)
26 = -360 »° +60°

G =180 n° -+ 30° 1A
Alternative solution (2)
sin{f+30%) =cos @

sin(g + 30%) = sin{90° - £) 1A

F+30° =180 n”+(-1)"(90°- &) :, where » is an integer. ; IM+1A
When n is odd,
9+30° =180 n°—90°+8  (rejected)

When #» is even,
G+30°=180m"+90°-0

& = 90n° +30° 1A %Accept radian measures.

(pp~1} for mixing degree and radian

4
5. x2—x—1>k(x—2)

2t —(h+ Bx+2k-1>0 . iM For expressing in ax’ +bx+¢>0

A= (k1) ~4(2k ~1) ' 1M '

k? —6k+3<0 . 1A

(k-1 (k-5)<0

t<k<s 1A

4

2005-CE-A MATH-4
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Solution

Marks

Remarks

6. (ay Siopeof L, =-2

1A

Alternative sclution
The coerdinates of P are (3, 0).
The coordinates of & are (0, 6).

&
tan g = —

3
=2

IA

(b}  Lettheequationof L; be y=mx.

LOQF = L0PC =8
LPOQ=m~20
m = tan{x ~26)
=-tan2 &
2tané
1-tan” &
2(2)
t—-(2)°

4
3

4
- the equation of Ly is y = ~3~x .

M

iM

1A

Alternative solution (1)
Let the equation of Ly be y = mx .
ZO0P =8

(D1,
Tem(-2) |

m+2 2 or m+2

= = 3
{—2m I—-2m

m=0 (rejected} or m=

i | 4

. the equation of Ly is y = g X .

IM+1A

1A

2005-CE-A MATH-3 -

IM for tan ¢ = | b i?
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1A : Accept omitting absolute sign


issac
Rectangle


issac
Rectangle

issac
Rectangle



Selution Marks Remarks

Alternative solution {2)
Let the equation of L, be vy = mx, where m >0,

fx+y—6=0

Y=

= & B 6m
2+m’y 2+ m

B & om
OQ_‘\/(Z-E-HT) +

T

2+ 1
00=0P=3

) M

2
6Vl+m
2+m

4(+m* =2+m)?

=3 M

Im? =dm

m=0 (rejected) or

(PSRN

. the equation of £, is v m-w:i'x‘ 1A

Alternative solution (3)
Let the coordinates of Q be (&, k).

Since OQ =3, h*+k* =9 IM
[ h?rr? =9

2h k60

B+ (6-2h) =9 1M

Sh* —24h+27=0
h=73 {rejected) or A :v-z—

When k=2 , k=12
5 5
-. the equation of L, is
12
Z g
y-0 s
- 9
x-0 9 o
5
4
yeEgk _ ' 1A

2005-CE-A MATH-6
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Solation Marks Remarks
7 fx ~x%] = ~4x

x=-x> = —4dx or x-x%= 4x IM

x2-5x = 0 x243x = 0

x=0or x=5 x=-3 or x=0 1A+1A | Awarded even If 1M was not awarded.
Since —4x20, x<0. TR M E
. x =5 isrgjected. i
‘OR Put x=-3, LHS=RES=12 T M “For checking
i Put x=0, LHS=RHS=0 :
i Put x=5, LHS=20
e RHS=-20 (rfectedy L

x=-3 or x=4 1A

Alternative solation (1)

|x=x%| = —4x

Since -dx 290, x=0 2ZA

ix —-x* <O 1A

The equation becomes

—(x—x")=—4x OR  x-x?=4x 1A

x{x+3}r=10

x=-3 or x=90 iA

Alternative solution (23

fx-x?| = ~d4x
fx(1-xy| = —4x
Considering the following cases: (1) x <0
(2y0<gxgl } IM
3y x =1
Case {1) : The eguation becomes
—x{}-x}y=—dx 1A
x(x+31=0
x=-3 or x=0
Since x <0, x=-3
Case (2) : The equation becomes
x(i-xy=—-x iA
x{x—-5y=48
x=0or x=5
Since 0Lx <1, x=0
Case (3) 1 The equation becomes
—x{l-x}=dx A
x{x+3)=0
x==-3 or x=0
Since x> 1, the two values are rejected.
OR Since —4x=0, x =0, there is no solution 1A
for x>1.
Combining the 3 cases, x=-3 or x=0{ 1A

2005-CE-A MATH-7
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Solution Marks Remarks
Alternative solution (3)
Ex—x:E = —Ax
Consider the following cases @ (1} x<s0 H {(OR x<0)
. 2} x>0 j M
Case {1} : The equation becomes
C=x(l-x)=—-4x 1A
x(x+3}=0
x=-3 or x=0
Singe <0, x=-3 or x=0
Case (2): Since x>0, -4x <0
| x ~x? = -4x < 0 (impossible)
there is no solntion for x> 0. ZA
Combining the two cases, x=~3 or x=0, IA
Alternative solution (4)
x—x7 | = -4y
(x-x7)* = (-4x)° M
xt—ox? 1 xY 21620
xt -2x" ~15x% =0 1A
X (- 2x 15y =0
X x+3)(x-5)=0
x=0 or x=-3 or x=5 1A
iSince ~4x>0, x<0 | M
[ =3 reeted. 4 1A
Lx=-3 of x=0
g

2005-CE-A MATH-8
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Selution

Marks

Remarks

For n=1 LHS—-EE-%zi
Z2x3 3

i

2
RHS= vl
3

a3 | pn

. the statement is true for n=1.
%2 2x2? 3x2%
+ + kD
2x3  3x4d dws
2k+}
T k42
where k is a positive integer.

Jox 2k
k+DA+2)

Assume

Ty

x2*

N 4_{k+&)x2k”
E+DE+2) (k+D k-

3)

Ix2
+

23
2k+1

T2
2?’!1'?2

k+32
2k+1

2x27 3x2Y
+ +
3xd  4x5
~E_(k+1)><2*“
(k+2)(k+3)

b+t
UM |
1+ o 3)

2k+4
= ~1
kvin{ k3 )

true for dE} pos:twe ntegers .

Not awarded if any one of the above
marks was withheld.

2005-CE-A MATH-Y
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Solution Matks Remarks
d Gk
9. (a) ~—sin" {(x* + 1
dx
: - .31 . d 2 : .
b e 1] (x° +)————sin{x" +— " HDIIM For chain rule
¢ odsin(x® +1) dix* +1) dx ; )
T | d .
=3sin?(x? +1) cosx? + 1) (2x) Y For wgl:u?'-ﬁuz OR ——sinu=cos
=6 xsin*{x* H)cos(x2 +1} 1A
(B xy+y? =2005
dy dy d
S p eIy —i =0 1A+1A | 1A for — .
AR AL G or dx(xy}.
14 for - (3?) and -L (2005
p dx dx
R 1A
dx =x+2y .
Alternative solution (1)
¥ +xy-2005=0
i
| =xEvx* +8020
’ 2
dy 1, 1 _
=gl e (20) M4
dx 20 2yx? 18020
()
= ol pem— 1A
2 v x? +8020
Alternative solution (2)
2005 -3?
o 2005 -y°
Y
dx (=231 ~(2005 - y?
"g"“zj( ¥) (2 y7) IM41A
¥ ¥
_ —(2005+ y*)
.mmm..,;immmm
d C2
dx  2005+y
- -
2005-CE-A MATH--10



issac
Rectangle


issac
Rectangle

issac
Rectangle



Solution Marks Remarks
d . y
1. (&) —{x{x+1}"]
dx
e L e D) (D) ek
L i
= sn{x+ )" +(x+1)" 1A
ém(xvé-}.}"hl (nx+x+1)§
e+ T {naDx 1) }
®  y= j(mz)m“ (2006x+1)dx M
Put z2=2005in{a):
aﬁw[x(ﬁ 1329 T (e + 20062 +1)
X
2005 e For primitive function, awarded
- y=xCee )T+ kL where K s a constant. 1A even if £ was omitted
Put x=-1, y=1:
1=0+k o k=1 _ ™M
. the equation of C is y = x(x+ )" +1. 1A . Acecept y=(x+1D™ —(x+ 1) 41
6

2005-CE-A MATH-11
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Solution Marks Remarks
1. {a) a-b=ialib|cosi20°
=3(5)Y cox120° 1A
SR 1A
2
(b) atb+c=0
e=-{a+h) 1A
ci={a+h]
e’ ={a+b) (a+h)
=a-a+2a-b+b-b M
=37 ~:~2(-l§~)+52 1A For a - a =3° and
=19 b-b=5?
]cfr@ tA
Altemative Selution
a+bh+c=0
¢=—{a+b} 1A
fef=ia+bi
Jat+b2=ial® +ib|2 ~2|ailb|cosd
' =32 452 . 2(3) (5} cos 60° IM+1A-
= 19 '
L iel=A19 1A

e

Omit vector sign/dot sign in most
cases {pp-1}

2005-CE-A MATH-12
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Solution Marks Remarks
2 (@ yA
C{0, 6)
P
B{4,2)
> X
A-1,009
J -1 0
L1142
Areaof AABC ==
21 0 6
-1 0]
:%(~2+24+6) M
{b)  Since area of AAPC : area of AABC =1:4,
e E 1A
L CPPE=]:3 1A
The coordinates of P are
3(0)+ 14 , 3(6)+i(2}) IM
3+1 3]
ie (1,5). 1A
Alternative Solution
Area of A4PC = é {area of A4BC)
- ,1,(14)
4 iM
=7
2
Let the coordinates of F be (x, ).
-1 0]
i x ¥ 7
210 6| 2
(-1 0!
1 7 i 7
-~y +HX+ G} = e {65 +6) = F
5 {~y 3= M 3 {(~y+bx+6)=1 5
Gx—p=l 6x—y=1 OR 6x-y=-13 (reiected)
Equation of B(' is
y-6 6-2
x-0 Qwd
xty=6
jr6x —p=1
(Xt y=6
Gx+x=6+1 iM
r=1
Yo 6o X
=5
- the coordinates of P are (1, 5). 1A
i

2005-CE-A MATH-13
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Solution Marks Remarks

, i : ;
3. (a) J.sm nxdx =-—cosTx+c. , where ¢ is a constant. : IM+1A | IMfor J-sm udu = -Ccosu
T .

withhold 1A if ¢ was omitted
inQ.1 orfand Q.13 (8)

i 2
by Area = L[f(x) — g{x)jdx + L fe(x)~ f{x}dx M IM for area between two curves
b
b 2 = [ 109 by
ﬁ_‘. 25mfrxdx+£ ~2smaxdx 1A a
6

2 .
= 08 ﬂx]:} + [2— £os frx}lz M For the two integrands
T T
2 2 2 2
= (=) (E D)
b 4 T

i : 1A
"

2005-CE-A MATH-14
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Solution Marks Remarks
14,
c B
i
2
§]
(a) CB=(0OBcos £LAOB
1
= (- 1M
(4)
<1
4
Il-udl___idu___; — 1 remem
CB .= —~{—04): 1M For CB = CB{~ 04)
L4200 2
:_1_3 1A
8
gAitemative soiution
Let E’é = /1(7/!. =Aa.
OB - OA =| OB|] 04| cos LZAOB
i
{c+Aa).a=1(2) (-Z) 1M
i
O+2v(2)?‘=:~2~ M Forc.a=0 or a-a=|al|*
2=1
8
CB=-a 1A
¢=0B+ %
wbwia i
3 .
4

2005-CE-A MATH-15
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Solution Marks Kemarks
(b}
DA = HOA cos ZOAD)
1
=2(2) (—
( }(4)
= 1A
dz%+ﬁ? ' M Ford=a“{:+:{z”5 and AD = kb
=0A+ B0 (since AD=1= B0
=a-~h 1A
(i) OP = oC+rOp
i+
(bw-flwa)+r(awb)
e e IM
i+r
= - Dar - A Sl
ber 8 §(r+1) 1ar
(iif) @' _ CA+ OB
2
- a-t+h 1A
2
When P ties on OM, OM // OP . OR OM = kOP
rwlx |~ M
9
¥ = e
16 y .
o OM divides CD inthe ratio 9: 16. 1A Omit vector sign/dot sign in most
e cases (pp—1}
8

20035-CE-A MATH-16
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Sohttion

Marks

Remarks

15 (2 {x2+y2—v4xw2y+4=0
(¥ =k
2 (k) ~dx-2(kx) 44 =0
(2 +Dx° Rk +Ox+4=0 ..
IfC,and L intersect,
A=(2k+4) ~4(k* +D{4) 20
4k* +16k +16-16k ~162 0
3k* -4k <D
k(3k—4)< 0

4
0sks—
g

M

IM

1A

For expressing in the form ax® +bx+c ={

‘Alternative solution (1)
%2 +y2 —dx-2y+d=0
(x-2)" +(y-1* =1

Distance from 4 1o L
£(2)-1)
Vi+k* I
If ) and L intersects,

_
21",

VI+ 2|
Q2k-D% s1+4°
Ik —Ak s

ngsi
3

Coordinates of 4 are (2, 1) and radius of C, i5 1.

1M

IM

1A

Accept omitting absolute sign

2005-CE-A MATH-17
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Sohition Marks Remarks

Alternative Solution (2)

A

i
A2 0

Y
=

0

%t +y2 ~4x-2y+4=0
Coordinates of 4 are (2, 1.
Let @ bethe angle between (J4 and the x-axis.

i
tan 20 = 2200
1—tan’@
1
2=
) (2)
= 1, M
Al
(2)
L4
3
s therangeof valuesof £ 18 0%k s—. 1A
S S
:~——24-I OR SetA=0
b +From (a), slope of L, = — . : iM R .
®) ()1333 OR  Set distance fromAdto L, =+
The equation of Ly is ¥ xix, 1A »
3
2

{c) (i) Letthe coordinates of P and O be {x; , ¥ ) and
{x4, y;) respectively.
x; and x; are the roots of the equation (*) in (a}.
2k+ 4

¥yt Xy :“**“"k2+1 | IM
- Let (x, y) be the coordinates of M.
e 2.
" k2+2 1
ke +]
. ka2
. the x coordinate of Mis
ke +1

2005-CE-A MATH-18
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Solution Marks Remarks
¢ k+2
x=—
(H) (1} « ko1
Ly =k
k2
X = “‘“2—
k1
OR
k{k+2
= = D)

ke +1

Substitute k=2 into x = k+2 : OR Substitete into y= k(k“.:“z}
x k% £ +1
L2
x e ™M For eliminating &
% +1
x .
x2ey? - x-y =0 1A
~. the equation of Cyis x° + y? ~2x~y=10.
i 3
OR (x-1 +(y-—)* ==.
OR (x—1* +{» 5 =7
@
¥A
Ly
focus of A4 1A For L,
1A For locus of M (passing through A4}
Axes not labelled (pp-1)
A
O s oo
q

2005-CE-A MATH-19
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Solution Marks Remarks

16.  {a} (i) The coordinates of P are {0, k). tA

The coordinates of J are (gii, k. 1A

(i) Let R be the mid-point of PQ; and S be the point
2z
=20
( . )

;' o S X

. By the property of the sine function (OR Since
: sin{a + @) = —sin G, }, the area bounded by the

; curve and line segment PR is equal to that bounded :
: by the curve and line segment RQ. g

,,&{%ﬁ: ofthe shadedregion
L Tareaofrectangle OPQS
2
= f{ 1M
) _
= 2 1A
4
® @ V=x j 2y
0
xfrj.k(k—sinkx)zdx 1A
o
2
& 2 : s 2
:rrJ' {k* —2ksin b +sin” b)dx
B
o ] 2khx
=T I d (kz —2ksinkx+ ;CO;—W} dx iM For expressing sin ? kx in terms of cos 2hx
g : _
% sin 2k z 1M for evaluating .(k:’ dx and Jl dx,
= k*x 2 ¢08 kx4 _ }Gk IM+IM N :
2 Ak IM for evaluating Jcos kxdx or
T .
= p(Zkrfr+2+;—2) JSERkadx
3 i
waa {2k . H
T P ) _ _

2005-CE-A MATH-20
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Solution Marks Remarks

PN 1
(ify V=u (2k+k)

d¥
= =rta- m}m)
dk k2
1
Putﬂ:(}:waxO M
dk i*
k= ;
- E » . which lies outside the range !
T 25ks3, :
:So there is no turning point within the range. f
.The greatest value of 7 oceurs at the end-pomnts, || 1A

19772

)

a

.. the greatest value of Vis IA

Altermative Solution

ar 5 1
o 2 D
¢ k’:)

i
12?52(2—«-1”) for 2< k<31
{ a2 i

>0 for 2k =3 M

wwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwww

1A
At k=3, Vxxzw+§)
)

_ 1972
T 7

1972

. the greatest value of ¥'is 1A

2005-CE-A MATH-21
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Solution

Marks

Remarks

o i E
T

E
P"{: T ,f'j

’ /?”/Wﬁ' ‘
4
P 5 10

Let & be the angle of elevation of F firom J.
Fa-Jp
AP
_4-15
T s
=03 .
&, = 27" {correct to the nearest degree)

tan f, =

(ii) Let &, be the angle /X makes with the horizontal.
XD-Jp
DF
_35+4-15
© 5410
= (0.4
&, =22° {correct to the nearest degres)
Since &, > &, , Philip cannot see¢ the pole.

tanf, =

10

1A

M

1A

OR .
The ray from Jto X'is blocked by the building,
so Philip cannot see the pole.

OR

yil
)
és Shf;\\’i in the :bove diagram, Philip cannot see
e pole.

ADAT ~ ADPS
BT _ b4
DS DP

2005-Cl-A MATH-22
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2005-CE-A MATH-23

Solution Marks Remarks
Marking criteria :
IM - for considering #;and £,
IM+IM - for a correct expression of tanfzand tan &,
1A —for expressing tanf;and tan &, correctly in terms
of a common variable
{ — for the conclusion
X
J
I.SI
<
Let T7 be the point on the top of the building which is
directly above T,
PLet PS=xm,where 0<xm< PO . |
F DS = f(10+5) + 12 E
D =y2254 57 E
Since m:',%,’ IS = lej “é'\}ZZSw‘—xz :
3 - S :
Let @5 bethe angle of elevation of 7' from Jand :
&4 be the angle JX makes with the horizontal. M
an g, = rr-Js
’ 7S
Zii——I.S OR = 1 4-—-1.5 M
; NS «3»;\/225 4+ x?
15 o 13 5 25
= S e
DS V225 4 %7 Dr IS
tan g, ~ XD~ JS§
DS
_35+4-15 M
Ds
6 3] 4 )
- — OR = ez 1A Forboth tanf;and tanf, |——  —
bs ¥225+x2 . Dr IS

o tan gy >tan 8,
93 = 84

Philip camuot see the pole no matfer where he stands
on the road PO,
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Solution - Marks Remarks

Alternative Solation

Let £PDS =a , where 0o 5 ZFDOQ.
15
cosa

DS =

T =t pg =
3 cos e

Let &5 be the angle of elevation of 7' from J and
8, be the angle JX makes with the horizontal. IM

tan zm

5/cosa

_cose

T2

%tanﬁ wﬁwﬁ-ij
4 153/cosex M

_Zcosa .
TR _ 1A 1 iForboth tand, and tan g,

cotanfy > tan @,
8; >80,

Philip cannot see the pole no matter where he stands 1

ion the road PO,
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Solufion

Marks

Remarks

18, @ 0

=

f2 2
h= \"I4 -y 1A
When x =08, h=v4? ~0.8’
= 3.92 iM
When x=3.6, h=v4%-36°
=174
- the range of possible values of 7 is 1.74 to 1A
3.92 {correct to 3 significant figures).
@) f=16-x2
Differentiate with respect to 1:
L 2 S M
A oyt W
- 1
S
16-x2 2
— * I
2416 x°
5
.. dh
(B) (i) From (a) (if), e = roone s
4 916~
__L@?_J_r_x_rifg{?e}ses 16 decreasensn i
—— jsincreasing in 0.8<x <36 IM
OR
V16 5 wz{wﬁx )
d*n iy 21647,
de* 2 16-x IM

2005-CE-A MATH-25
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174<h<392

For chain rule

For attempting fo show that %
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Solution Marks Remarks

Put x=36:
dr 36
4t 216-3.62
~1.032 <2 1A

.. the elevating platform complies with the safety
regulation.

(ify Let y m be the height of the work platform of the
scissors-type elevating platform above the rail.

y=37 1A
o,
dt dr

1= £ (Since w~x-~l)1

L 2N16-x7 2

From (b) (i), greatest value of fif’_ ~1.032

df
. dy
.. greatest value of = 2 1.032x3 M
=3.10>12
. the scissors-type elevating platforns does not 1A

comply with the safety regulation.

d —x dx
= = 3 () ()
dt mexz . dr
-3x dx
f {—)
ViG-x?

_____

_____

{0 e (o) €

:_E}i: 36-—x2 (dl)

Put x=36:

§0<§m§3w(im_;‘§lﬂ_;(i‘i)gz M

I J]G_(Eé)a dr :

NES f‘p‘?auoszzs

" & should lie within the range — 0.322 ng—» <@ | 1A Accept —-0.323 < & <0
dt dt dr
{correct to 3 significant figures). '
gl
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